Variable List for Excel File: APSR88

To obtain the results of equation 1  Table 1, p. 471 regress loginc2 on loginc2lag dempreslag (loginc2 = annual natural log, times 100, of the ratio of net income (money income – including cash transfers - plus income underreporting, education benefits, in-kind benefits, fringe benefits less taxes) of the richest 20% to the poorest 40% of American households – e.g., the average 20/40 ratio over the 1950-1983 period was 1.97 which in natural logs is 2.71828 to the .678 power - .678 x 100 = 67.8 which would be the log of the “income gap” times 100 or the percentage gap in net income between the two groups; loginc2lag is loginc from the previous year; dempreslag = partisanship of the president from the previous year – Democrat = 1, Republican = 0).  For equation 2, Table 1, p. 471 regress loginc2 on loginc2lag demconglag (demconglag = percentage Democratic of the House and Senate combined from the previous year). For equation 3, Table 1, p. 471 regress loginc2 on loginc2lag  u  transhr2  dempreslag  demconglag (u = annual unemployment rate; transhr2 = transfer payments to persons as a percentage share of aggregate personal income (inclusive of in-kind benefits).

